148+30:7, 904 W55+30:8, 504 W60+30:9, 104

W48:4,800 W55:5,400 W60:6, 000

30:3, 000

i3

552,563 (2,708) [3,208]
60 : 2,559 (2,704) [3,204]

2,355 (2,500) [3,000]

55:5,450 60 : 5,960

552,458 (2,603) [3,103]

60: 2,468 (2,

55:2,744 (2,889) [3,389]
60: 2,758 (2,903) [3,403]
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"tk HiS” 85: 1,173 55:3,100 85:1,177
W48:4,737_W55:5,337 W60:5, 937 130:2,937 60:1,277 60 : 3,400 60:1,283
BEETER (86 : m) BERER (Bfi - )
IR tMavy - rEELR 1MV )Y - FEFEILR fibve 3 tHavy - rEEER 1Ravy ) — MEFETAR
M L it (kN m) 3t (kN mi) i A (kN i) " L 3 (kN mi) 38 A (kN mi) it (kN mi)
30 50 100 30 50 100 30 50,100 30 50 100 30 50 100 30 50,100
a-b a-b a-b a-b a-b a-b a-b a-b c-d c-d c-d c-d c-d c-d c-d c-d
5 55 810 510 510 810 510 380 700 700 15490 5 1100 1000 800 1100 700 550 1000 900
60 840 590 590 840 500 400 700 700 60 1100 1000 800 1100 700 550 1000 900
5 55 850 600 600 850 600 400 100 00 55430 5 1100 1000 800 1100 700 550 1000 900
60 900 630 630 900 630 420 700 700 60 1100 1000 800 1100 700 550 1000 900
o 55 900 630 630 900 630 420 750 750 60430 55 1100 1000 800 1100 700 550 1000 900
4
60 940 660 660 940 660 420 750 750 60 1100 1000 800 1100 700 550 1000 900
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